2024.04 F3

Y —h/ )V IBRY

No.E-9991JB

INSERT NOZZLES

(ERON’
K& FEI—IL SR - R—JL:SUS303
TMPa 70C
O —/\—MEICH 3./ RIVIFEIHE FEH 35 1B = BRI HDEIR
BUETBIENTEET,
EEOUVIBREVICEIBINTOVEY A

2% 35¢
E 25 350
<7 -
<O 7 |
moc N/ | =
T T
(@]
Dk |
ouvz i
oF A A=R?\‘~‘J‘C 0
W%k = * IR
Z#+—5"—No. No. A B C D E F G H BEg il%ﬂmg
1~9@ | 10@LLE
% 970084 | JB10-1 |M10X1.5 (EE) 19.6 104 028 48 17 24 6 4,150 3,730
% 970085 | JB10-2 |M10X15 (tE)  19.6 = 6.4 104  ¢2.8 48 17 = 2.4 6.5 | 4,430 3,990
%970086 | JB10-3 |M10X15 (EE) 196 127 = 104 ¢2.8 48 17 2.4 75 | 4,590 4,140
% 970087 | JB10-4 |M10X15 (tE)  19.6 318 104  ¢2.8 48 17 24 95| 6800 6,150
#970088 | JB10-5 |M10X1.5 (EE) 19.6 104 o041 48 17 24 6 4,280 3,840
%970089 | JB10-6 |M10X15 (EE)  19.6 127 104 o411 48 17 24 65 | 4690 4,230
%990252 | JB10-7 |M10X15 (EE) 196 = - 104 M5 48 17 24 6 4,690 4,230
%111439 | JB10-8 |M10X15 (EE)  19.6 318 104 o411 48 17 24 72 | 4760 4,290
%123167 | JB12-1 |M12X1.75@8) 19.6 104  ¢28 56 17 24 75| 4,020 3,610
%123168 | JB12-2 |M12X1.75@E) 196 64 104 628 47 17 24 75| 4,280 3,840
%123169 | JB123 |M12X1.75@E8) 196 127 104 628 47 17 = 24 10 4,410 3,960
%123170 | JB12-4 |M12X1.75@E) 19.6 318 104  ¢28 47 17 24 125 | 5100 4,540
%123171 | JB12-5 |[M12X1.75@8) 19.6 104 o411 47 17 24 75| 4,150 3,740
%123172 | JB12-6 |M12X175@E) 19.6 127 104 o411 47 17 24 75| 4540 4,090
%123173 | JB127 |M12X1.75@8) 19.6 @ 318 104  ¢41 47 17 = 24 10 5,100 4,540
%123174 | JB12-8 |M12X1.75@8) 196 - 104 M5 = 47 17 = 24 10 4,540 4,090
%123175 | JB20-1 |M20X15 (8E) 279 191 152 41 10 24 24 275 /10,000 9,000
% 123176 | JB20-2 |M20X1.5 (#8E) 279 381 152 41 10 24 24 30 |11,500 9,900
% 123177 | JB20-3 |M20X15 (@E) 279 191 152 56 10 24 24 275 |10,000 9,000
% 123178 | JB20-4 | M20X15 (ME) 279 381 152 56 10 24 2.4 325 |11,500 9,900
%123179 | JB20-5 | M20X15 (8E) 279 191 152 71 10 24 24 25 [10,000 9,000
% 123180 | JB20-6 | M20X1.5 (E) 279 381 152 71 10 24 24 275 11,500 9,900
% 985022 | JB1B-1 R1/8 203 - 104  ¢2.8 56 17 2.4 6 4,150 3,730
% 985023 | JB1B-2 R1/8 203 64 104  ¢28 56 17 @ 24 7 4,430 3,990
% 985024 | JB1B-3 R1/8 203 127 104  ¢28 56 17 = 2.4 6 4,590 4,140
% 985025 | JB1B-4 R1/8 203 - 104 041 56 . 17 . 21 6 4,280 3,840

SINCE 1560

NABEYA co..Ltp.

2024531

CADF—95'9y0—K - EERAE Web Y1 bT! [ 7RV

BOEE MM

945



2024.04 &5

429 —~/X)LJBEY (ERON)’

INSERT NOZZLES ~ No.E-9991JB

[l e R EES

\ : : : : : : : e BB
ZF—5"—No. No. A B C D E F G H BEg 71 ~o@ 10@ELE
* 985026 | JB1B-5 R1/8 20.3 ¢ 127 ¢ 104 © ¢4 5.6 17 2.1 7 4,690 : 4,230
* 990253 | JB1B-6 R1/8 20.3 = 10.4 = M5 5.6 17 2 6 | 4,690 @ 4,230
* 111440 | JB1B-7 R1/8 203 0 318 104 928 5.6 17 2.4 8.6 | 4410 @ 3,960
* 111441 | JB1B-8 R1/8 20.3 ¢ 31.8 104 @ ¢4.1 5.6 17 2.1 6.8 | 4,410 @ 3,960
* 985027 | JB2B-1 R1/4 23.4 - 11.5 ¢ ¢2.8 5.6 17 2.4 8 4,280 = 3,840
* 985028 | JB2B-2 R1/4 234 64 115 @ ¢28 56 17 2.4 8 | 4590 4,140
* 985029 | JB2B-3 R1/4 234 127 115 928 5.6 17 2.4 8 4,760 = 4,280
* 985030 | JB2B-4 R1/4 23.4 = 11.5 @41 5.6 17 2.1 © 4,400 « 3,970
* 985031 | JB2B-5 R1/4 234 0127 115§ ¢4 5.6 17 2.1 7 4,820 = 4,350
* 990254 | JB2B-6 R1/4 23.4 > 115 ° M5 5.5 17 2 8 4,820 = 4,350
* 111442 | JB2B-7 R1/4 231 0 318 0 104 ¢2.8 7.8 17 2.4 10.4 | 4,410 @ 3,960
* 111443 | JB2B-8 R1/4 231 0 31.8 104 @ @41 7.8 17 2.1 8 4,410 = 3,960
% 970090 | JB3B-1 R3/8 23.4 - 10.4 = ¢5.6 7.9 17 2 10 4,690 = 4,230
* 990255 | JB3B-2 R3/8 234 127 115 @ ¢56 7.8 17 2 11 4,690 @ 4,230
% 990256 | JB3B-3 R3/8 234 318 115  ¢56 7.8 17 2 12 4,970 = 4,490
% 990257 | JB3B-4 R3/8 23.4 = 115 M6 7.8 17 2.4 10 4,970 4,490

mERB WEIIIE
4 i SBI= oA
X 7 SBTR m I\
ST I Q :
| S A
i ‘ M10X1.5 [10.85~11.0

M12X1.75 |12.75~12.9
M20X1.5 21.4~21.6

" o
% |
] R R IR (ETE) .

2AFU—=Fv I OFa—T=WY)
MFBIENTEET,

SINCE 1560

946 CADF—559v0—k - EEIRRIE Web ¥4 hT! [ 7P | “a\ NABEYA co..LTp.

2024%3H

1,






